INEERIN

Disk Grinder Rest parts list and assembly diagram

Item | QTY | Part Name

1 1 DSR Motor mount (1.1 or 1.5kw)

2 2 DSR Arm bracket

3 2 DSR Arm

4 1 DSR Rest

5 2 DSR Spigot

6 4 M6x16 CSK

7 1 Motor, 1.1kw or 1.5kw 2pole

8 4 M8x20 Adjustable handle

9 2 M8 Washer large

10 8 M6x16 SHCS (4pcs M8x20 SHCS for 1.5kw motor)
11 4 M6 Washer small (4pcs M8 washer small for 1.5kw motor)
12 4 M6 Washer large




